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Exam Date [23/11/2021
Exam Time : |4:00 PM - 5:30 PM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1 Eight officers A, B, C, D, E, F, G and H are attending a meeting sitting clockwise
around a circular table in the same sequence. All are facing the centre of the table and
have equal distances between them. If D is facing the north-west direction, in which
direction is F sitting?

Ans 4 1. South-west
25 2. North-east
< 3. South-east
#< 4. North-west

Question ID : 65497829121
Status : Answered
Chosen Option : 2

Q.2 In a certain code language, 'READY" is written as 'IVZWB'. How will 'PERFORM' be
written in that language?

Ans X 1.KVPRERFJ
< 2. RPLIFIRE
" 3. KVIULIN
#< 4. LORPREFI

Question ID : 65497829108
Status : Answered
Chosen Option : 3

Q.3 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Rotate
2. Rose

3. Resolute
4. Repair
5. Recreate

Ans X 1.4,53,2,1
%X 254,312
o 3.54,321
X 4.1,4,3,2,5

Question ID : 65497829113
Status : Answered
Chosen Option : 3
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Q4 Select the figure that will come next in the following figure series.

Ans

3. L

x 4.

Question ID : 65497829116

Status : Answered

Chosen Option : 3

Q.5 Select the option that is related to the fourth number in the same way as the first
number is related to the second number and the fifth number is related to the sixth
number.

9:44001 :: ? : 46521 :: 14 : 55211
Ans X 1.14

& 2.18
X 3.20
X 4.10

Question ID : 65497829122

Status : Answered

Chosen Option : 2

Q.6 ‘Tailor’ is related to ‘Dress’ in the same way as ‘Cobbler’ is related to * .
Ans  # 1. Shoes

5 2. Cycle
#< 3. Furniture
X 4. Building

Question ID : 65497829118

Status : Answered

Chosen Option : 3
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Q.7 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

i

b

Ans

vl

o%W Vo
oA Ao
oM AD
oV Vo

oV Vo

oM Ao

Vo

Ao
oV
oA

x 4.

Question ID : 65497829112
Status : Answered
Chosen Option : 1

Q.8 Seven friends S, T, U, V, W, X and Y, are sitting around a circle with their backs towards
the centre. There are three persons between Y and V. W is sitting to the immediate
right of V. U is sitting between Y and X. T is not the neighbour of W or Y. S is the
neighbour of W.

Who is sitting between V and X?

Ans 1. T
K 2.8
K3y
X 4au

Question ID : 65497829119
Status : Answered
Chosen Option : 1

Q.9 Vishal is the husband of Narmada. Pratik is the brother of Gaurvi. Kartik is the son of
Prathmesh, who is the husband of Arti. Arti's son is married to Narmada. Gaurvi is the
daughter of Vishal. How is Prathmesh related to Gaurvi?

Ans X 1.Paternal uncle
25 2. Maternal grandfather
#< 3. Maternal uncle

«" 4. Paternal grandfather

Question ID : 65497829103
Status : Answered
Chosen Option : 4
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Q.10 In a certain code language, 'TARGET' is coded as '219752' and 'PRIZE' is coded as
'79985'. How will '‘QUEEN' be coded in that language?

Ans X 1.73554
o 2. 83555
% 3.83225
X 4.82554

Question ID : 65497829105
Status : Answered
Chosen Option : 2

Q.11 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

MLW, JJV, GHU, ?
Ans X 1.EGR
o 2. DFT
X 3.FFS
X 4. GET

Question ID : 65497829117
Status : Answered
Chosen Option : 2

Q.12 A cube is made by folding the given sheet. In the cube so formed, what would be the letter on the epposite side of the
letter 'A"?

Lele

afo]
Ans X1
v2C
X3 B
X4 F

Question ID : 65497829124
Status : Answered
Chosen Option : 2
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Q.13 Select the option that is embedded in the given figure (rotation is NOT allowed).

RS

Ans

Question ID : 65497829125
Status : Answered
Chosen Option : 4

Q.14 Select the number from among the given options that can replace the question mark
(?) in the following series.

40, 46, 58, 82, 130, ?
Ans X 1.206
o 2.226
&5 3.174
7 4.166

Question ID : 65497829115
Status : Answered
Chosen Option : 2

Q.15 Select the option that is related to the third term in the same way as the second term is
related to the first term.

NOSE : ENOS :: PROUD : ?
Ans 4 1. DOPRU
< 2. DUROP
< 3. OUPDR
X 4.RPUOD

Question ID : 65497829101
Status : Answered
Chosen Option : 1

Q.16 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.KNQTW
« 2. CGILN
X 3.DGJMP
X 4.PSVYB

Question ID : 65497829104
Status : Answered
Chosen Option : 2
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Q.17 The given diagram shows the number of students who know different languages (Hindi, English and German).

German
19
5 15
3
1 /12
21
English

‘What is the number of students who know English and German both but do NOT know Hindi?
Ans 4 3
w212
X3 15
4 16

Question ID : 65497829120
Status : Answered
Chosen Option : 4

Q.18 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
1. All needles are papers.
2. Some needles are knives.

Conclusions:
|. Some knives are papers.
1I. No paper is a knife.

Ans X 1. Both the conclusions follow
4" 2. Only conclusion | follows
25 3. Only conclusion Il follows

#< 4. Neither conclusion | nor Il follows

Question ID : 65497829109
Status : Answered
Chosen Option : 2

Q.19 What will be the value of the given expression if ‘A’ means ‘+’, ‘B’ means ‘~’, ‘C’ means
‘x’ and ‘D’ means ‘+’?

27D3A5A(9C6)B15A(14B11)C6=7
Ans X 1.81

o 2.71
X 3.43
X 4.54

Question ID : 65497829123
Status : Answered
Chosen Option : 2
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Q.20 Select the correct mirror image of the given combination when the mirror is placed at the right side.

856wgqga
v BpwWOocCc8

5 PWOSG8
>BpWOCS8
~~sepPMIC8

Ans

Question ID : 65497829107
Status : Answered
Chosen Option : 1

Q.21 Select the number from among the given options that can replace the question mark
(?) in the following series.

7,14,17,68,73,?
Ans X 1.408
o 2.438
X 3.528
X 4.432

Question ID : 65497829106
Status : Answered
Chosen Option : 2

Q.22 The total of the salary of Mandeep and Swati is ¥85,000. The total of the salary of Swati
and Yukti is ¥60,000. If Swati's salary is 10,000 more than the salary of Yukti, then
what is the salary of Mandeep?

Ans X 1.%25,000
 2.%35,000
% 3.%40,000
o« 4.350,000

Question ID : 65497829111
Status : Answered
Chosen Option : 4

Q.23 Select the option in which the numbers are related in the same way as are the
numbers in the given set.

(9, 45, 10)
Ans X 1.(5,75, 26)
X 2.(7,40,12)
o 3.(8,72,18)
X 4.(6,85,22)

Question ID : 65497829110
Status : Answered
Chosen Option : 3
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Q.24 In a certain code language, 'DUMP" is written as 'ETNQ' and 'EAGER' is written as
'DZHDS'. How will 'FINGER' be written in that language?

Ans X 1.HHOHDS
X 2. IFGNRE
«" 3. GHOHDS
# 4. GJOHQS

Question ID : 65497829102
Status : Answered
Chosen Option : 3

Q.25 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

G_CT_X_TGX_T_XCTG_CT
Ans X 1.TGCCGG
& 2.XGCCGX
X 3.XXCGGY
X 4.XGCCCG

Question ID : 65497829114
Status : Answered
Chosen Option : 2

Section : Part B General Knolwedge and General Awareness

Q.1 Who is known as the founding father of macroeconomics?
Ans  # 1. John Maynard Keynes

< 2. Alfred Marshall
< 3. Adam Smith
< 4. Paul Samuelson

Question ID : 65497829144
Status : Answered
Chosen Option : 3

Q.2 The value of the Special Drawing Right (SDR) of the International Monetary Fund is
determined by a basket of currencies consisting of currencies.

Ans X 1.six

o 2. five
25 3.seven

X 4. eight

Question ID : 65497829136
Status : Not Answered
Chosen Option : --

Q.3 India’s first seaplane service was launched in October 2020 in:
Ans X 1.Karnataka

& 2. Kerala
< 3.Goa
" 4. Gujarat

Question ID : 65497829141
Status : Answered
Chosen Option : 4
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Q.4 Which of the following is a folk dance performed by the 'tea tribes' of Assam?
Ans X 1.Alkap

< 2.Barao

#< 3. Domkach

& 4. Jhumur

Question ID : 65497829130
Status : Answered
Chosen Option : 4

Q.5 During India's independence movement, who was the only President of the Indian
National Congress who resigned from the presidency even after being elected?

Ans X 1. Dadabhai Naoroji
" 2. Subhash Chandra Bose
7% 3. Abul Kalam Azad
X 4. Vallabhbhai Patel

Question ID : 65497829140
Status : Answered
Chosen Option : 2

Q.6 Who among the following was one of the Congress leaders who drafted a Constitution
for India in 19287

Ans o 1. Motilal Nehru
25 2. Jaipal Singh
< 3. Somnath Lahiri
#< 4. Shyama Prasad Mukherjee

Question ID : 65497829142
Status : Answered
Chosen Option : 1

Q.7 When is Indian Army Day celebrated every year?
Ans 4 1.15 January

25 2.8 March
< 3.5 June
X 4. 23 October

Question ID : 65497829143
Status : Answered
Chosen Option : 1

Q.8 In 1944, the Battle of Imphal was fought between the British Army and the
Army.

Ans  # 1. Japanese
< 2. Dutch
#5 3. Chinese
75 4.French

Question ID : 65497829126
Status : Not Answered
Chosen Option : --
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Q.9 Which of the following is an Arthropod?
Ans X 1. Liver fluke

" 2. Millipede
2 3. Snail
X 4. Leech

Question ID : 65497829139
Status : Not Answered
Chosen Option : --

Q.10 Which of the following is India's first river interlinking project?
Ans X 1. Palar - Bhavani

«" 2. Ken - Betwa
X 3. Vaigai - Noyyal
X 4. Kosi - Gandak

Question ID : 65497829134
Status : Answered
Chosen Option : 4

Q.11 Which district of Odisha has the highest peak of the Eastern Ghats?
Ans o 1. Koraput

75 2. Balangir
#< 3.Boudh

25 4. Angul

Question ID : 65497829131
Status : Not Answered
Chosen Option : --

Q.12 Which of the following statements about camels is INCORRECT?
Ans X 1. Their dung is dry.

X 2. They excrete small amounts of urine.
7% 3. They live in terrestrial habitats.

4" 4. They sweat a lot.

Question ID : 65497829148
Status : Answered
Chosen Option : 3

Q.13 Which of the following is paired CORRECTLY?
Ans X 1. Fixed/immovable joint: Elbow

< 2. Ball and socket joint: Upper jaw—head
2% 3. Hinge joint: Shoulder
4" 4. Pivotal joint: Neck—head

Question ID : 65497829149
Status : Answered
Chosen Option : 3
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Q.14 Which of the following is a stringed musical instrument?
Ans 1. Jantar

#< 2. Bungal/Bhungal

25 3. Turi
X 4. Zanz

Question ID : 65497829147
Status : Not Answered
Chosen Option : --

Q.15 In October 2020, the Government of India launched the SERB - POWER Scheme with
the objective of promoting opportunities for:

Ans X 1.youth in medical research
" 2. women in exploratory research
25 3. women in biotechnology research

#< 4. youth in educational research

Question ID : 65497829129
Status : Answered
Chosen Option : 3

Q.16 In which prison did Mahatma Gandhi go on a hunger strike in protest of the British
Government's decision to separate India's electoral system by caste, in the year 1932?

Ans X 1. Dongri
o 2. Yerwada
#< 3.Byculla
< 4. Bhoiwada

Question ID : 65497829132
Status : Answered
Chosen Option : 2

Q.17 The Preamble to the Constitution of India is based on the Objective Resolution moved
by Jawaharlal Nehru in the Constituent Assembly on .

Ans X 1.4 November 1946
" 2. 13 December 1946
< 3.29 August 1947
75 4.14 February 1945

Question ID : 65497829128
Status : Not Answered
Chosen Option : --

Q.18 Which of the following was set up as the apex level institution for housing in India?
Ans X 1. Maharashtra Housing and Area Development Authority

#< 2. Delhi Development Authority
< 3. The Housing Development Finance Corporation

¥ 4. National Housing Bank

Question ID : 65497829138
Status : Answered
Chosen Option : 4
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Q.19 Which of the following does NOT refer to movements in the oceans?
Ans X 1.Waves

25 2. Currents
4 3. Reflections
X 4. Tides

Question ID : 65497829145
Status : Answered
Chosen Option : 3

Q.20 ‘The Other Side of Silence: Voices from the Partition of India’ is a book by .
Ans X 1. Yasmin Khan

75 2. Ayesha Jalal
#< 3. Bapsi Sidhwa
& 4. Urvashi Butalia

Question ID : 65497829150
Status : Not Answered
Chosen Option : --

Q.21 Robert Clive, who was one of the founders of the establishment of British supremacy
in India, came to India in the year:

Ans X 1.1543
X 2.1733
o 3.1743
X 4.1643

Question ID : 65497829137
Status : Answered
Chosen Option : 3

Q.22 Who among the following was the first Indian woman to participate in the Olympic golf
tournament?

Ans X 1.D ksha Dagar
¥ 2. Aditi Ashok
< 3. Sharmila Nicollet
< 4. Smriti Mehra

Question ID : 65497829135
Status : Not Answered
Chosen Option : --

Q.23 Christian Coleman, who was banned for two years from 14 May 2020 for anti-doping
violations, is associated with

Ans X 1.boxing
< 2. tennis
< 3. swimming
" 4. athletics

Question ID : 65497829146
Status : Not Answered
Chosen Option : --
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Q.24 Under whose advice did Mahatma Gandhi decide to travel throughout India for a year,
getting to know the land and its people since arriving in India from South Africa in
1915?

Ans X 1. Motilal Nehru
4" 2. Gopal Krishna Gokhale
< 3. Bal Gangadhar Tilak
75 4. Subhash Chandra Bose

Question ID : 65497829127
Status : Answered
Chosen Option : 2

Q.25 Since which year has Kabaddi been recognised as a full-fledged sport at the Asian
Games?

Ans X 1.2000
X 2.1994
2 3.199
o 4.1990

Question ID : 65497829133
Status : Not Answered
Chosen Option : --

Section : Part C Elementary Mathematics

Q.1 If 20 men can complete a work in 36 days, then how many men can complete three-fourth of the same work in 18 days?
Ans 1. 40

« 2. 30

X3 15

x4 20

Question ID : 65497829155
Status : Answered
Chosen Option : 2

Q.2 Acancomplete atask in 15 hours and B can do it in 30 hours. After A had worked for 5 hours, B also joined A to finish

the remaining task. In how much time will the remaining work be completed?
Ans 1. 6 hours 40 minutes
X 2. 5 hours 30 minutes
X 3. 6 hours 20minutes
X 4. 5 hours 40 minutes

Question ID : 65497829166
Status : Answered
Chosen Option : 1
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Q3 Ifx:y=5:8, then what is (4x — 3y) : (4x— 7y)?
Ans  @#1.1:9

x21:1

X311:19

X49:1

Question ID : 65497829151
Status : Answered
Chosen Option : 1

Q.4 Acretailer buys an article at a discount of 20% and sells it for 22,200, making a profit of 10%. What is the discount (in )?

Ans X 1. 2400
X 2. 3300
« 3. 2500
X 4. 3200

Question ID : 65497829156
Status : Answered
Chosen Option :.3

Q5 At what rate percentage per annum (p.a.), will a sum of money double in 8% years simple-interest?
Ans 1. 8.5% p.a.

« 2. 12% p.a.

X 3. 7% p.a.

X 4. 8% p.a.

Question ID : 65497829169
Status : Answered
Chosen Option : 2

Q.6 Ifthe area of a rectangle with dimensions 18 m * 50 m is the same as that of a square, then what is the length of the side
of the square?

Ans X'1. 34m
X2 17.5m
X3 15m
o4 30m

Question ID : 65497829152
Status : Answered
Chosen Option : 4

Q.7 The average of the resultant of three times of A and four times of B is 17. Also, the average of the resultant of four times
of A and three times of B is 18. The sum of A and B is:

Ans 5T 1 |5
X216
X3 12
« 4 10

Question ID : 65497829163
Status : Answered
Chosen Option : 4
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Q.8 A train takes 50 minutes to cover a certain distance at a speed of 90 knvh. If the speed is increased by 33 ; %, then how

long will it take to cover 22 times of the distance?

Ans X 1. | hour 30 minutes

X 2. | hour 25 minutes
< 3. 1 hour 20 minutes
« 4. | hour 45 minutes

Question ID : 65497829167
Status : Answered
Chosen Option : 4

. : . Ty Pt
Thewalue0f8—4780f3+(7770}”;)76+(3xﬁf;)xgls.
Ans X100
x2 182
2

®3:197
3

4 18

Question ID : 65497829161
Status : Answered
Chosen Option : 4

Q.10 If the seven-digit number 57282p9 is completely divisible by 11, what is the value of (11 — p). wherep > 07
Ans 1. 8

X235

X310

x4 2

Question ID : 65497829159
Status : Answered
Chosen Option : 1

Q.11 If the difference between 70% of a number and 40% of the same number is 133, then the number is:

Ans X 1. 420
X2 350
X 3. 550
4 4350

Question ID : 65497829165
Status : Answered
Chosen Option : 4
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Ans 1. Z14.860
X 2. 210,000
X3 211,835
4 216,000

Q.12 A sum of 26,000 is lent on simple interest in two parts such that the interest on the first part for 3 years at 5% per
annum is equal to the interest on the second part for 4 years at 6% per annum. How much is the first part?

Question ID : 65497829158
Status : Answered
Chosen Option : 4

C's salary more than A's salary?
Ans 1. 48%
X2 33%
< 3. 90%
X 4. 65%

Q.13 A'ssalary is 10% less than B's salary, B's salary is 25% less than C's salary. By how much percentage approximately, is

Question ID : 65497829160
Status : Answered
Chosen Option : 1

715.000, respectively, then what is the income (in ¥) of A?
Ans 1. 28,000
X 2. 31,500
« 3. 35,000
X 4. 38,500

Q.14 The incomes of A and B are in the ratio 7 : 9 and the ratio of their expenditures is 13 : 15. If A and B save 9,000 and

Question ID : 65497829174
Status : Answered
Chosen Option : 3

860, how many 5 coins are there?
Ans X 1. 60
X2 50
« 3. 80D
X490

Q.15 A piggy bank contains 1 coins, 2 coins and T5 coins in the ratio of 5 : 9 : 4. If the total amount in the piggy bank is

Question ID : 65497829168
Status : Answered
Chosen Option : 3
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Q.16 A fruit seller purchased 30 kg apples at T520 per 10 kg. He sold 60% of them at the rate of T60/kg. To get a gain of
20%, the selling price of the remaining apples. per kg, is:

Ans 1. F66
X2 362
x3. 365
x4 T60

Question ID : 65497829171
Status : Answered
Chosen Option : 1

Q.17 Two successive discounts of 12% and 10% are given on an item. If the marked price of the item is ¥3,500, then the
selling price of the item is:

Ans X 1. ¥2.650
X2 32,652
v 3 2,772
x4 32,770

Question ID : 65497829164
Status : Answered
Chosen Option : 3

Q.18 Walking at three-fifth of her usual speed, a girl reaches her workplace 1 hour 30 minutes late. What is her usual time of
travel?

Ans X 1. 56 min
X 2. 54 min
3. 2h 15 min
X4 2h45 min

Question ID : 65497829162
Status : Not Answered
Chosen Option : --

Q19 7etyxand v be the LCM and HCF of 165, 297 and 495, respectively. What is the value of = ?
y

Ans 1. 75
X2 55
3. 45
X4 15

Question ID : 65497829172
Status : Not Answered
Chosen Option : ==
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Q.20 Jagan bought 4 almirahs of equal cost. He sold 3 of these with a profit of 14%. He sold the 4t amirah at k% profit.
What is the value of k, if the overall profit is 15%?

Ans 11§
X214
K315
4 18

Question ID : 65497829154
Status : Answered
Chosen Option : 4

Q.21 The average of 16 numbers is 24.5. If the average of the first 6 numbers is 20.5 and that of the last 5 numbers is 32.4,
then what is the average of the remaining numbers?

Ans 1. 21.4
X2 224
X3 21.8
x4 202

Question ID : 65497829173
Status : Answered
Chosen Option : 1

Q.22 If the length and the breadth of a rectangle are doubled, then its perimeter will become:
Ans 1. four times

X 2. half

X 3. thrice

+ 4 twice

Question ID : 65497829170
Status : Answered
Chosen Option : 4

Q.23 A certain sum amounts to 8,094 at 10.5% p.a. in 4 years, at simple interest. What will be the amount (in ) of the same

sum at the same rate in 6? years, at simple interest?

Ans  X'1. 9,850
X 2.9,760
« 3 9,690
X 4.9,960

Question ID : 65497829175
Status : Answered
Chosen Option : 3
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Q24 Simplify the following expression.

L | —
da | 2
| k2
Ly | =
| un
| b2

X
|

Ans 2
5

Question ID : 65497829153
Status : Answered
Chosen Option : 2

Q.25 Due to some damage. Nitin sells a woollen jacket at 10% below the cost price. If he could sell it for 2500 more. he
would make a profit of 15%. What is the cost price of the jacket?

Ans X1, 33,333
« 2. 22,000
X 3. 32,500
X 4. %5,000

Question ID : 65497829157
Status : Answered
Chosen Option : 2

Section : Part D English

Q.1 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

She didn’t liked / any disturbance / during her studies.
Ans X 1. No error

< 2. any disturbance
< 3. during her studies
" 4. She didn’t I'ked

Question ID : 65497829179
Status : Answered
Chosen Option : 4

Q.2 Select the most appropriate option to fill in the blank.

This is the clock that | have ever seen.
Ans X 1. purest

o 2. finest
2< 3. sharpest
75 4. tastiest

Question ID : 65497829176
Status : Answered
Chosen Option : 2
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Q.3 Select the most appropriate ANTONYM of the given word.
Awkward
Ans o 1. Graceful
& 2.Buky
< 3. Uneasy
75 4. Inelegant

Question ID : 65497829187
Status : Answered
Chosen Option : 1

Q.4 Select the INCORRECTLY spelt word.
Ans X 1. Metal

" 2. Taccal
< 3. Brutal
< 4. Fatal

Question ID : 65497829194
Status : Answered
Chosen Option : 2

Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

Giving orders in a manner that permits no refusal
Ans X 1. Infidelity

" 2. Dictatorial
75 3. Benedictory
< 4. Adulterous

Question ID : 65497829185
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate option to fill in the blank.
Friendship increases happinessand __ misery.
Ans X 1.delegates
#< 2. distinguishes
¥ 3. diminishes
X 4. determines

Question ID : 65497829195
Status : Answered
Chosen Option : 3
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Q.7 Select the option that can be used as a one-word substitute for the given group of
words.

Study of diseases
Ans X 1. Telepathy

¥ 2. Pathology
75 3. Antipathy
X 4. Empathy

Question ID : 65497829184
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate meaning of the given idiom.
Eagle eye
Ans X 1. An eye full of curiosity
25 2. An eye with sense of admiration
75 3. An eye full of suspicion

" 4. An eye with sharp visual powers

Question ID :'65497829181
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The book are not owned by him.
Ans X 1.are not being owned
" 2. is not owned
< 3.is not own
25 4. No substitution required

Question ID : 65497829193
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate meaning of the given idiom.

To bear fruit
Ans X 1. To be creative
< 2. To put in hard work
4 3. To produce positive results

< 4. To accept the truth

Question ID : 65497829178
Status : Answered
Chosen Option : 4
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Q.11 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

He was too tired for walking anymore.
Ans X 1. very tired for walking
¥ 2. too tired to walk
7% 3. No improvement required

25 4. to tired for walk

Question ID : 65497829188
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

We watched the carpenter to repair our broken table.
Ans  # 1. repairing
#< 2. No substitution required
< 3. repaired
75 4. to repairing

Question ID : 65497829177
Status : Answered
Chosen Option : 1

Q.13 Select the most appropriate ANTONYM of the given word.
Captivity
Ans X 1. Tumble
< 2. Prosperity
X 3.Elevate
" 4. Freedom

Question ID : 65497829183
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate synonym of the given word.

Attract
Ans X 1.Prevent
«” 2. Entice
< 3. Repel
< 4. Disgust

Question ID : 65497829180
Status : Answered
Chosen Option : 2
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Q.15 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Even though Mahindra & Mahindra warn / consumers not to use low-standard engine
oil, / people refuse to read the instructions / and damage their vehicles.

Ans X 1. people refuse to read the instructions
4" 2. Even though Mahindra & Mahindra warn
< 3. and damage their vehicles

25 4. consumers not to use low standard engine oil

Question ID : 65497829182
Status : Answered
Chosen Option : 2

Q.16 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He is / the more intelligent / and hardworking student / of our class.

Ans " 1. the more intelligent
< 2. of our class
25 3. and hardworking student

& 4. Heis

Question ID : 65497829189
Status : Answered
Chosen Option : 1

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

Disease that spreads by physical touch and contact
Ans X 1. Poisonous

< 2. Contemptible
+#" 3. Contagious
75 4. Resistible

Question ID : 65497829191
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate synonym of the given word.

Deliberate
Ans X 1. Accidental
< 2. Disastrous
#< 3. Unplanned
«" 4. Planned

Question ID : 65497829190
Status : Answered
Chosen Option : 4
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Q.19 Select the most appropriate option to fill in the blank.

We have decided to go on a long with our friends.
Ans X 1. visit
X 2. travel
" 3. drive

75 4. passage

Question ID : 65497829192
Status : Answered
Chosen Option : 3

Q.20 Select the correctly spelt word.
Ans  # 1. Mechanism

7% 2. Machanism
< 3. Mechenism
< 4. Mechanisum

Question ID : 65497829186
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

During a festival in Kerala, an elephant went on a rampage, attacking nearly 27 vehicles (1)
near a temple. Festivals in Kerala often (2) hundreds of elephants to attract

crowds and accidents are not uncommon.

The big animal (3) tethered by the tusk along with four other elephants (4)

broke free and started flinging parked vehicles, (5) rickshaws and motorbikes, around.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans 2 1.placed

o 2. parked
75 3. put
75 4. planted

Question ID : 65497829197
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

During a festival in Kerala, an elephant went on a rampage, attacking nearly 27 vehicles (1)

near a temple. Festivals in Kerala often (2) hundreds of elephants to attract
crowds and accidents are not uncommon.
The big animal (3) tethered by the tusk along with four other elephants (4)
broke free and started flinging parked vehicles, (5) rickshaws and motorbikes, around.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans 4 1. have

< 2. has
7 3. had

#5 4. are having

Question ID : 65497829198
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

During a festival in Kerala, an elephant went on a rampage, attacking nearly 27 vehicles (1)

near a temple. Festivals in Kerala often (2) hundreds of elephants to attract
crowds and accidents are not uncommon.
The big animal (3) tethered by the tusk along with four other elephants (4)
broke free and started flinging parked vehicles, (5) rickshaws and motorbikes, around.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans X 1.is

5 2. are
5 3. were
o 4. was

Question ID : 65497829199
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

During a festival in Kerala, an elephant went on a rampage, attacking nearly 27 vehicles (1)

near a temple. Festivals in Kerala often (2) hundreds of elephants to attract
crowds and accidents are not uncommon.
The big animal (3) tethered by the tusk along with four other elephants (4)
broke free and started flinging parked vehicles, (5) rickshaws and motorbikes, around.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans 2 1. although

o 2. but
#< 3. hence

< 4.s0

Question ID : 65497829200
Status : Answered
Chosen Option : 2
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Comprehension:

select the most appropriate option to fill in each blank.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans 2 1.included

¥ 2. including
7% 3.include
#< 4.toinclude

In the following passage, some words have been deleted. Read the passage carefully and

During a festival in Kerala, an elephant went on a rampage, attacking nearly 27 vehicles (1)

near a temple. Festivals in Kerala often (2) hundreds of elephants to attract
crowds and accidents are not uncommon.
The big animal (3) tethered by the tusk along with four other elephants (4)
broke free and started flinging parked vehicles, (5) rickshaws and motorbikes, around.

Question ID : 65497829201
Status : Answered
Chosen Option : 2

Section : Part D Hindi

Q.1 A T IR & R ve e v ffve)
fora®T g0 ®e HfeT B
Ans p 1 go
X 2.3
X 3.gH
X 4. gary

Question ID : 65497829209
Status : Not Answered
Chosen Option : --

Q2 33 T IR & Y ve e T &1 999 Sl

o IR = B FTEET B
Ans g1 Ty
X 2.9
X 3.7aS
X 4794

Question ID : 65497829205
Status : Not Answered
Chosen Option : --

Q.3 fyfofad & A Y a1 a1eT Weg B4 AT 82
Ans X 1. ORIl

X 2. WU

7 3. TR

o 4. TRIEU

Question ID : 65497829220
Status : Not Answered
Chosen Option : --
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Q.4 3T Y g % FHMTY e b1 TUq B

[93

3
Ans 1T

o 2. A
X 3. grexff
X 4. gdexff

Question ID : 65497829217
Status : Not Answered
Chosen Option : --

Qs %gmammagmmaﬁﬁﬂﬁﬂﬂézﬁél i} o1s IR T e, A I IR T
|

T @ (1) ST T T 7 (2)/ MU dUR &1 (3) B T (4)
Ans X 1.4

x 2.2
X 3.3
o 4.1

Question ID : 65497829207
Status : Not Answered
Chosen Option : --

Q.6 U T A= F THMI 2eq BT TG BRI
forgor
Ans X 1. DAl
X 2. i
X 3.9gdr
o 4. T

Question ID : 65497829208
Status : Not Answered
Chosen Option : --

Q.7 g WM WA F 1T Tad SUYa Xeg BT 79— Y|
ECiAU G ok: 1K O
Ans X 1. SHa@
& 2. STard!
7< 3. Iaard
X 4. @

Question ID : 65497829213
Status : Not Answered
Chosen Option : --
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Qs ﬁaﬁ?auﬁ,ﬁqwmﬁm}ﬁ%mﬁmmmﬁ,ﬁﬁmmaﬁm
A B

IRUTE TS
Ans X 1. 3dfoid gl
Xo2gaEeT
X 3. FfEag e
4 SR
Question ID : 65497829212
Status : Not Answered
Chosen Option : —
Q9 Pay W BT e Weg ST 22
Ans X 1 fagas
o 2. 3hdd
X 3. 3Hddy
X 4 3Udday
Question ID : 65497829204
Status :‘Not Answered
Chosen Option : —
——
Q.10 %ﬁwmwaimmﬁﬁaﬁﬂéaﬁ%mﬁﬂéﬁﬂﬂ%ﬁﬁaﬁﬂa%
I
PIFIGRT 7 (1) 3M=iP T &7 (2)/ I XRaPral A fhar 21 (3) 13 IR 2 (4)
Ans X 1.4
X 21
X 32
& 4.3
Question ID : 65497829203
Status : Not Answered
Chosen Option : —
QM PrafifEa d @ g ad-t aran u= ST ard?
Ans X 1 HS
o 2. SHIE
X 3. P&
X 4. HBI
Question ID : 65497829219
Status : Not Answered
Chosen Option : —
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Q.12 33 T a1 # TErfed o &) ufawfia s & fre ged Iuged fiwen a1 sga ¥
<ot Bt draar | e
Ans X 1. 3@dd
X 2. TR
3. &l
X 4. gfaur

Question ID : 65497829221
Status : Not Answered
Chosen Option : —

Q13 gﬁqmmmagmmﬁmﬂéaﬁémﬁﬁaﬁﬂﬂ%ﬁﬁaﬁﬁ%
I

HETHT LR (1)/ YR F AGFAAT (2 T ST §1 (3)/ P 3 TE 2(4)
Ans X 1.1

&2.3
X 3.4
X 4.2

Question ID : 65497829216
Status : Not Answered
Chosen Option : -

Q.14 mmmﬁwmwﬁuﬁwmw*ﬁqmmﬁmmmﬁl
T 39 vfoenfia &3 #t sraxgsar 78 8, @ e fdt sgam @ smevaea T8 &
PTTAA BN
I U P 38R APl 87
Ans X 1.BHR 3R
2. [l 9cama 31 axadhdl el
X 3. TR 3M

X 4. TRR M

Question ID : 65497829202
Status : Not Answered
Chosen Option : —

Q.15 R¥ad RIF $1 WA & g G99 Sugad Weg $1 999 B
et TR ST
Ans X 1.3 3
X 2. & M|

& 3.
X 4. FIW

Question ID : 65497829215
Status : Not Answered
Chosen Option : —
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Q.16 e RIF $1 WA & g 9a Suged W $1 999 B
FH____ TR TSI
Ans X 1 faa®
o 2. St
X 3. 9l
x 4 fR=

Question ID : 65497829210
Status : Not Answered
Chosen Option : —

Q.17 R Ry aream & foe ve w=g 3w 1o faweut & & gfe-
Ry i posaaadae
Ans X 1.3@8
X 2. dRH
¢ 3. 5|
X 4. 30

Question ID : 65497829218
Status : Not Answered
Chosen Option : -

Q.18 g ¥ 3t 3T T Yera B1 of BT 2
Ans X 1. o @l Rma T8

2. FB A SEH &l

X 3 Gd ST TAT

X 4. THdT Udhe HAT

Question ID : 65497829206
Status : Not Answered
Chosen Option : —

——

Q.19 3y U arey # YErfed @ & ufarafua $e & e e Suged fawen &1 9aa &3
uﬁs‘&uﬁwﬁaﬁ T B AARTHAT e &, A Rwey et agaE It smawsa TE ¥
BT I DY

witelt SRt % sifer & AN T UIeE B3 S P YR § o 831
Ans X 1 ol 9ead & STl el ol
X 2. UIeH BRd g SISl Bl HRd § Hm el
o 3. UIeH &R 3l Bl HRd I HT e
X 4. UIeH B 31wl B HRd § HTl fed|

Question ID : 65497829214
Status : Not Answered
Chosen Option : —

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.20 f3g 7Y =g 1 faeim g1

Ans

o

X 1. &fm
2. oY
X 3.dHEq
X4T®

Question ID : 65497829211
Status : Not Answered
Chosen Option : —

Q.21
Ans

Comprehension:

mwaﬁzﬁwmwmwﬁlﬁqwﬁWaﬂm%mw%mw
TEI1 & folY a9 Iugad faded &1 99 Bifor|

UGN DI PRI DI FAD (1) S &g H el | 376 T4l fadvdan IeaRanma &
ERIGEH dCURA-G™d (2)  SIURR [bdl gARI (3) I YR & 3¢, 1,
fr anfe 7 &1 Jordicrg A 99 Tia & (4) Uy 31 X& BN, IR AR W B e
URGd fbU1 I5IH RIS S SfieRl aRA gRIGARI URAIRS (5) &1 RIIUHT &I 9
3R Uy & IRU &1

SubQuestion No : 21
e & e R (1) F g waifte Suged weg gm-
X 1. IREER
X 2. Higd
3. TFa al
X 4. PRl

Question ID : 65497829223
Status : Not Answered
Chosen Option : —

Comprehension:

mwaa%aﬁwmsaEszlﬁqmﬁWaﬁm@mw:mmw
TEI & folY 9aY Iugad faded &1 994 Bifi|

ga@amﬁ%mﬁwaﬁwm & &g 7 et I Tl [ IaRaH-Y &

A IRA-THT (2) - I URR [$ar g9 (3) BT 3MUR g1 dg, R,
Fiﬁaﬂﬁnu%’lgamam?faq F(A)_ UMDY, IR GHR U B e
TRgd fbul I8 s o IRFAGRIGAR UIRAIRD (5) &I RO D GA
3R TRy B IR

SubQuestion No : 22

Q.22 e & e ®IF (2) % fore waifue Suge weg 8-

Ans

X 1. Raxdt o
X 2. Uty
3. Bgud
X 4.9y o

Question ID : 65497829224
Status : Not Answered
Chosen Option : —
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Comprehension:

mwaﬁtﬁwmwmwﬁlmwﬁmaﬂm%mwwmw
TEI & folY 9aY Iugad faded &1 994 Biforl

JaiCNI DI PRUAB A (1) & U H fiyell I Tl fa=ivagn ImaRad-9 &
ERISE dCIRA-TRIA (2) ol UIeR foba1| 899 (3) BT 3MUR g dg, IR,
i anfe 7y §1 gerdia A4 39 @ (4)_ U DI G DI, AR GHR YA By e
URgd fbU1 I5IH IRITas oY IRAGRIGARI UIRGIRSD (5) I RITAI DI TI

3R Uy &1 IRu &1

SubQuestion No : 23

Q.23 e & fYaa R (3) & forg waifue Suge =g Em-
Ans X 1 dfd
X 2R
X 3.4ifd
4. TPl
Question ID : 65497829225
Status : Not Answered
Chosen Option : —
——- a

Comprehension:

U Y 3= H D9 Wk Bl fau MY §1 AU 71 fasedl 31 Wemdr ¥ Rad H H) Uds Uy
TEI & foiY aY Iugad faded &1 99 Biforl

gadiiary &l SHR-09 &I Fad (1) & ®g # et I Jul [ IaRaH=Y &
GRIGGH da-IRA-URId (2) I URR {1 gad (3) D1 YR gl dg, W,
W ot 7 1 gordiard 3 39 Tia & (4) T DI &M D, 3R AR T 3 A
U¥d fbul 35 dRmag o IRA R gHRI UIRaIR® (5) D RGBT T
3R Uy &1 IRU &1

SubQuestion No : 24

Q.24 TR ¥ R WM (4) ¥ Rre waifte Sugea weg 8-

Ans

1. EA[AD 3R FAIID
X 2. ToHifa® 3R Reifors
X 3. Hifd® iR Torifad
X 4. Qeiforep SR i

Question ID : 65497829226
Status :
Chosen Option : —

Not Answered

Comprehension:

QU Y 3= H 9@ Vst gl 6T L 1 foU 71T fadeul &1 werdr ¥ Rad ®IF W1 Udd Uy

T & foe 9y Sugdd fdded &1 99+ Bifor|
Ol DI PRI D IAD (1) & wq H fiyell I T4t faivaan ImaRaa-9 &
GRISEHAGIRGTHA(2)_  DIURR BN GARI (3) 1 3HIUR g 4G, I,

R R Ty 3| GeRIC I ST TR D (4)  UH B 6T B, SR gHR U B e
TR U1 35 FRwag S IRA GRIGARI UIRAIRS (5) B A &t G
3R drey @ IRum &

SubQuestion No : 25

Q.25 T F e wi (5) ¥ e waifie Suged we &rm-

Ans

X 1. 9de
X 2.34fd
3. gE-Ifd
X 4. faarg

Question ID : 65497829227

Status :

Not Answered

Chosen Option : -
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